College Algebra — Exam 1 Name: SMI OQQM

MAT 140, Fall 2014 — D. Ivansié¢ Show all your work!

1. (8pts) Use the graph of the function f
at right to answer the following questions.

a) Find f(3) and f(0). X(3)=-S {(0)
b) What is the domain of f? [~6)V(V,S] —stiisi
c) What is the range of f7? [-SI—';J v (2,6]
d) What are the solutions

of the equation f(r) = 47?

Y= -, —05

2. (lOpts) Use your calculator 1 [ b - j‘uf o)
to accurately sketch the graph of "

y=z° — 10z — 17. Draw the graph w0 / y.’—-m;!‘ 19, QU?E?J?
here, and indicate units on the axes. ot L

Find all the z— and y—intercepts ;
(accuracy: 6 decimal points).

"'ﬂ"' f=ti, 4}
d

3. (4pts) Convert to scientific notation or a decimal number:

00000347 = 2 47 x [0 1593.x 10t = 15930

Use formulas to expand:

2 +
4. (dpts) (4 +5) = ﬁgﬁ 5-44.5rs = 6x"+40x s

; 1 v v 4
5. (dpts) (2z —uw?)(2z+u?) = (/2;.{} - (ﬁl) T ‘r Al ¢ |

6. (6pts) Factor: 8% — 125 = (Zg)ﬁ’— j']-_ (Qﬁrg)(?_)r}'FZJ"'f'f"S‘)
- (Qﬁﬁj")( 4074 104 +2§)




Simplify, showing intermediate steps. Assume variables can be any real numbers.

7. (2pts) V108 = ]fl‘?; 8. (5pts) /125z7y% = ,)?55;:‘.,“3“
"3 - ST 6%
- 513|157 Vsx

9. (8pts) Simplify.

-5 = 2 = G5 XX 9) = 2x (3x+3)
JrP—z—-10 2?2+3xr-10 (By+5 ) (%-2) (a5
==3d {}'f'*j{ ~2) L
F;f.-ﬂl -6.S = “ e s et " —-53(-—!'0)::*_25
B0 G+ Sx -0 N BK#-T)(’( ~2)(x¢+%) (3)@';){:‘("1) (x+5)
ﬂ’(i,(fx-z)dlml =5 %Slt\ Td *é’ ve 3.
=G )(x2) T () (k-0 (¢S S5l

10. (8pts) Simplify. Express answers first in terms of positive exponents, then convert to

radical notation. G = =Y
3 3 g _3 7 1 -2 -3
3 e & s LS % 8 = e
(Iay-i)]- s, G'{ \‘I (3 i_ - jr_.la_.__ = x’q . la ’ J-: X e b .
2 1 x :

) (e < e 4 5w

e

It 1 SR e

11. (6pts) Rationalize the denominator.

i-ns Gl 4B-g-sEi0h BB o, 40
Virz -1 et Y

e~

=




e TR )

12. (5pts) Solve the equation for .

cla+bt) =d
carcht =d
el 2 d-Ca
e o
13. (8pts) Find the domain of the function f(z) = m?]:Tﬁs atidl write it g Inbsrval
notation.
Con't bt Must Lo
{+hy-J=0 {70
2) =0
A D [0,092,)
= .
14. (10pts) Let g(z) = (<2 + 2)V3—%. Find the following (simplify where appropriate).
o(-1) = (-) +)3-C1) o®) = (6F+-5  not difined
=3{s=6

g(va) :(£1+2)J;;fa_ glz—-1) = ((’{al)1+2>J'3-{>(:r_5-‘
= (}(1?:{+i+'?.)\||'3*)<*|

= [@+V V3~
= (2043 )\




15. (4pts) Which of the following graphs are graphs of functions (yes/no)?
a [ &
W 4

Yes s No uf'/:rl‘ Ma

Loy
16. (8pts) A circle is centered at (—3,4) and passes through the origin.
a) Find the equation of the circle.
b) Draw the circle in the coordinate plane.

a) e dybue feo 634) o (0,6)
=\ O-») (04"
V94 =S
Eqrhn, o ek
(=)t 5-4)> S
(xt3) 4 (9-9) = 25

b

Bonus (10pts) Find points on the z-axis whose distance to point (3,2) is Vv20. Hint: what
form do coordinates of points on the z-aris have?

A porden Y Loy s cordidts (0)

d = | (-0~ = /25
S o

({=3) + ¢ =29 L Phu‘h R r:gfﬂ);(ﬂzrc‘])




